
Problem Set #1
Microeconomics, fall 2006
Due: Friday, 11/17/06
You can discuss these questions and the answers with other students but  write up your own answers. Answer all questions. Diagram of r8 will be given out Tuesday. 
1. Explain six of the following seven concepts, and develop an example, not copied out of the readings,  that shows their relevance. Why or why not is this concept useful. Write a paragraph for each one.

A. Monopoly Power
B. Market Equilibrium
C. Social Costs of production

D. Prisoner’s Dilemma
E. Cost-Benefit Analysis
F. Mark-up pricing
G. Non-price competition
2.     Explain, according to Adam Smith, how order and coherence, can be the result of uncoordinated actions of self-seeking individuals. Use the concept of invisible hand in your answer. 

3. Define perfect competition. Explain why in a perfectly competitive market, firms will maximize profit by producing that level of output where price = marginal cost. 
4. Based on you reading of Real World Micro and Understanding Capitalism,
    A. Define market failure

    B. Give three major types of market failure, e.g., environmental degradation; then  show why in these 

          cases price does not equal marginal social benefit and marginal social price, and present your solution 

          to the problem raised by this market failure.

     C. Explain why people’s needs are often not reflected in market demands.

     D. The term, market failure, is a concept within neoclassical economics. How might a neoclassical 

         economist respond to the problems with the unregulated market solutions raised by 4B and 4C?
 5. In the past several years, the owner of the restaurant and bar, The Spa, in downtown Olympia has been a vocal proponent of proposed bans on car-camping, aggressive panhandling, and sales of malt-liquor products at downtown convenience stores. Some members of the Olympia community have interpreted this stance as a targeting of the homeless and low-income populations downtown. Suppose that a group of activists decided to spread information on The Spa owner’s stance, particularly by standing near the entrance with signs informing potential customers that their support of The Spa indirectly supports the criminalization of homelessness. 
       a. Draw a supply and demand diagram for cigarettes and tobacco at The Spa (one of their main revenue sources) representing the situation before activists began demonstrating there. Then represent the shift, or lack thereof, in either demand or supply that you believe would occur as a result of the activists activities. Explain your reasoning for this shift (or no shift) in one or two sentences. What is the likely change in the price and quantity likely to be? There are many possibilities for your answer. What matters is not that you pick the "right" answer, but that your reasoning is based on the economic concepts we have discussed. 

          b.   In the above example, does the fact that tobacco is an addictive drug affect your reasoning? How so? Note: There are other stores that sell tobacco and cigarettes.

           c.  In 2005, a Washington State  initiative was passed,  outlawing smoking in restaurants and bars. The owner of the Spa claimed that he can no longer could make profits, that his revenues plummeted (not only tobacco), and he has to sell his business. Use demand and supply curves to show this.   
  
6. Explain the main determinants of the profit rate, equation 10.8,and  pp. 247, table 10.1. How could you use this equation to analyze the overall profit rate, or the profit rate  of an actual corporations? Over the last 26 years, the before tax and particularly, the after-tax profit rate as defined in equation 10.8 has significantly increased for U.S. corporations. Using pp. 247, how would you explain this—which factors, terms have contributed most to the increase in profits. 
         
7. What are three major forms of capitalist competition as examined in chapter 11 of Understanding Capitalism. Discuss each, give a concrete example, and making specific references to their impact on the profit rate. How does this concept of competition differ from the concept of perfect competition?

8. For the following production possibility curve/frontier (PPF), 

      a. Explain the meaning of points A,B,C,D. Which  are efficient?

      b. Use the concept of opportunity cost to explain the 

              trade-off between points A and B

      c. Is there an opportunity cost to go from point C to B?

           Explain!! 

      d. Is point D a possible point to attain?

       e. What could cause the production possibility curve to move in, to move out? 

(note: The actual diagram will be given out on Tuesday)





